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using Microsoft.VisualStudio.TestTools.UnitTesting;
using TestCommon;

namespace Al.Tests

{
[DeploymentItem("TestData")]
[TestClass ()]
public class GradedTests
{
[TestMethod (), Timeout (100)]
public void SolveTest_Q1MazeExit ()

{
RunTest (new Q1MazeExit("TD1"));

}

[TestMethod (), Timeout (4000)]
public void SolveTest_Q2AddExitToMaze ()

{
RunTest (new Q2AddExitToMaze("TD2"));

}

[TestMethod (), Timeout (300)]
public void SolveTest_Q3Acyclic()

{
RunTest (new Q3Acyclic("TD3"));

}

[TestMethod (), Timeout(10000)]
public void SolveTest_Q40rderOfCourse()

{
RunTest (new Q40rder0fCourse("TD4"));

}

[TestMethod (), Timeout(500)]
public void SolveTest_Q5StronglyConnected()

{
RunTest (new Q5StronglyConnected("TD5"));

3

public static void RunTest(Processor p)
{
TestTools.RunLocalTest("A1", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);
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using System;
using System.Collections.Generic;

using TestCommon;

namespace Al

{
public class QlMazeExit : Processor
{
public Q1MazeExit(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long, long, long>)Solve);
public long Solve(long nodeCount, longl[][] edges, long StartNode, long EndNode)
{
throw new NotImplementedException();
}
}
}

Finding an Exit from a Maze'
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using System;
using System.Collections.Generic;

using TestCommon;

namespace Al

{
public class Q2AddExitToMaze : Processor
{
public Q2AddExitToMaze(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long>)Solve);
public long Solve(long nodeCount, long[][] edges)
{
throw new NotImplementedException();
}
}
}

Adding Exists to a Maze'
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using System;
using System.Collections.Generic;

using TestCommon;

namespace Al

{
public class Q3Acyclic : Processor
{
public Q3Acyclic(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long>)Solve);
public long Solve(long nodeCount, long[][] edges)
{
throw new NotImplementedException();
}
}
}

Checking Consistency of CS Curriculum”
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Determining an Order of Courses®



using System;

using System.Collections.Generic;
using System.IO;

using System.Ling;

using System.Text;

using TestCommon;

namespace Al

{
public class Q40rder0fCourse: Processor
{
public Q40rderOfCourse(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long[]>)Solve);
public long[] Solve(long nodeCount, long[][] edges)
{
throw new NotImplementedException();
}
public override Action<string, string> Verifier { get; set; } = TopSortVerifier;
public static void TopSortVerifier(string inFileName, string strResult)
{
long[] topOrder = strResult.Split(TestTools.IgnoreChars)
.Select(x => long.Parse(x)) .ToArray();
long count;
long[][] edges;
TestTools.ParseGraph(File.ReadAllText (inFileName), out count, out edges);
// Build an array for looking up the position of each node in topological order
// for ezample if topological order 4is 2 3 4 1, topOrderPostitions[2] = O,
// because 2 is first in topological order.
long[] topOrderPositions = new long[count];
for (int i = 0; i < topOrder.Length; i++)
topOrderPositions[topOrder[i] - 1] = i;
// Top Order nodes is 1 based (not zero based).
// Make sure all direct depedencies (edges) of the graph are met:
//  For all directed edges u -> v, u appears before v in the list
foreach (var edge in edges)
if (topOrderPositions[edge[0] - 1] >= topOrderPositions[edge[1] - 1])
throw new InvalidDataException(
E"{Path.GetFileName(inFileName)}: "+
E"Edge dependency violoation: {edge[0]}->{edgel[1]}");
}
}
}
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Checking Reachability of Intersections in a City®
Strongly Connected Component”
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using System;

using System.Collections.Generic;
using TestCommon;

namespace Al

{
public class Q5StronglyConnected: Processor
{
public Q5StronglyConnected(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long>)Solve);
public long Solve(long nodeCount, long[][] edges)
{
throw new NotImplementedException();
}
}
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